gl = n vspe = PIX A9/ K3aaug

001 010
NOINO.HO -+ NOIHN&A = ELOZ [T T [TT1T 1 1T 1 T T [TT T T T T
00+390T -+ 10-366'¥ = [AdM] L | %ﬁ fﬁ
[10+4d8€2 —+ 00+3d28'6 = HN B 4’+ A %& % AT ]
IT-4derd = Xny4 N + ‘T ]
10-392°2 = ajed OOQW [ 1 | I T T B 1 | NI
A9/ AS1auy A9¥ /ABasuy
001 010 001 o1o
T [TTT T T 1 T [TTTT T I T T [TTT T T /T 1 T [TTT T 71
= 9-01
m o
— Ul B B
] (o]
3 5 F .
= ¢-01 5 - i
7)) | i
— / B _
- @ .
] 3 I 7
— $-01 2
| 7))
— H- — —
] (0]
= < = -
= -0 B |
1 N | 1 11101 T C 1 1 v 0 1 11111 T

€06S¥1—-9208001F SXde eXauw, wures 4100 4c0cE6

s[enpisay

(A®Y s)/s3uno)




